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SCHOLARS ACADEMY

a)

c)

c)

a)
c)

a)
c)

General Intelligence and
Reasoning

. RuTusw anpfa &, 39 Uy &1 991 & orad uy

arpfa folt / Tads B 1wy f

From the given answer figures, select the one in
which the question figure is hidden / embedded.
Question Figure

kP

b)
| S— "
gfers 1 3 '+, - BT 3 'x '+ BT A 2 qYUT 'x
praef - g, -
If '+’ means' +',' - 'means 'x’ '+' means '+’ and 'x’
means ' - ' So
2012 x4 +8-6 =2
26 b) 29
32 d) 370 ¥ B3 T8 None of
these
" *come’ &T 3 '~

If& 'when' W\Hﬁx ou BT 3 '+
Gﬁ'\’ 'will' BT 3% '+ % @ "8 when 12 will 16 you 2
come 10 "?

If ‘when’ means 'x’, you means’'+’ ' come ‘'means’ -’
and 'will' means’ + ' so,

"8 when 12 will 16 you 2 come 10 "?

94 b) 112

45 d) 96

. P uy & & 718 g A 19 - 91 ug R ar
T 3 ?

Instructions: What is different or wrong in the series
given in the following question?

ACE, GIK, MQO, SUW, YAC

ACE b) GIK
MQO d) suw
e : P uy & oi) P yEen A usams e ) &

R TR B - Ht T et

Instructions: In the following question, what
number will be replaced in place of question marks
(?) In series of digits

10, 18, 28, 40,?

a)

c)

6.

a)
<)

a)

c)

54 b) 53
64 d) 55

In the following question, what number will be
replaced in place of question mark (?)

g vy ® yyaEe [ (2) F /YA R - g@n
/3M&T M|

54 45 63
36,
13Y5 Y Y
a 90 ’

108 b) 18
28 d) 90

. fAcw : R few o uy & & w1 9 B ﬁq %l

Rrad = 3 frewd 1 ok 1 o3 w1 81 RA ™
) T G Y HUA F YR R 3T 18 Freeu
q oI - A1 Frd adwa Fu § A 3, 9T
fofa 3
PYT : S SideX 4 g
|t 7 A 7

e : Ll sider A0 21

I1. $B NN ST 81
Instructions: There are two or three statements
given in the question below. Below is two findings |
and Il given. Considering the given statement as
true, deciding which conclusions arise out of the
conclusions given on the basis of the story.
Statement : Some doctors are nurse.

All the nurses are patient.
Conclusion: I. All doctors are patient.
Il. Some patients are doctors.

Fad ey | Aeadar 8 | b) Fad sy || FReaar g |
Only conclusion | is right Only conclusion Il is right
g d s o fAses 1 d) T sy | ek T @
fieadr & | Either the ¥ I Foaar © |

conclusions | or the Neither the conclusion |
conclusion Il is right and nor the conclusions Il
is right

A . R & S e B I A U UY F
I gl

i) A, B, C D,E F 3R G IW B! 3R Ug TP T
PaR # IS g

ii)'F’ E%?a‘iwa'ré AR IBT I

iii) 'C",B 3R D BT ‘K‘ﬁﬁ %

|v)a3?ﬂ'% St f Da?mé\’rh??ﬂ'\‘lﬂ% 9% TH BR
W 93T B

v) 'E',G P aTS MR AUT &1

AP - AR TR ?

Instructions: Please read the information given
below and answer the question carefully.

i) A, B, C, D, E F and G are sitting in a queue
towards the north.

i) 'F' is sitting at the right of E.

iii) 'C' is the neighbor of B and D.

iv) The person who is third on the left side of D, is
sitting on one end.

ﬁ»fl
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SCHOLARS ACADEMY

a)

c)

a)
c)

10.

a)
c)

11.

c)

12.

a)

13.

a)
c)

14.

v) 'E’ is the fourth to the right of G.

‘A’ is in which place?

E 3R D & oIF & Between b) UhaH TR 3R Extreme

Eand D left

UhaH E'I'sC 3R Extreme d) G & oiff iR Ulad =~

right TR At the fifth position on
the right of G

o goR A Siid &1 Tey @R 9 3, St ueR
SRTGadT P HaY forad § 2

The way in which 'Victory is related to Happiness’,
in the same way, which is related to 'Failure'?

2R wall b) T9T Time

“RTRM Disappointment d) 3al¥ sadness

wferd gd @ 3R 8 fbet i @, 599 1¢ ag Sfarr-
i3 ot R gedx gA: 8 S orar 81 39 a1 g
98 STR-UYW F 3R g8 HX 8 il wrar g 15ang f
3t 9% oA TRMAS RF A fra femd g 2

Lalit goes east to 8 km, then after turning south-
west, he goes towards 8 km. After this, he turned to
north-west and went to 8 km. in which direction is
he from his starting position right now?

3TR-YRd North-east b) Ef\&FUT—QR_Q’ South-east
Ui West d) URS East

TP dsH! 6 fYawR, 1970 & YT g¥ 99 fe gaar
YT ISHHT T 3AIR B! b Ha ST 2

A girl was born on September 6, 1970, on Sunday .
When will her birthday be on a Sunday again?

1975 b) 1977

1981 d) 1982

gdor & 3 7w war A9 T 1 gug Rard
HEEE R EEU KD

The clock seen in the mirror shows the time of 3 :15
.What is the right time in the clock?

3:15 b) 8:45
9:15 d) 9:45
In the following question, select the nhumber which

can be placed at the sign of question mark (?) from
the given alternatives :

Y ¥, I AR PT 999 B} e g MY
e 4 3 vy g ) F e W@ s a@a @

3|42

71871

816 1|3

?(54 |9
60 b) 70
75 d) 80

Which of the answer figure is exactly the mirror
image of the given figure, when the mirror is placed
on the line AB?

a)

c)

15.

a)

c)

16.

a)

c)

IR i A A BH-W arepfa & 1€ airepfay B dor
Bfd 8, 9 U1 Y AB IAT UR I@T ST 872

®

B

&
w D

Direction : In the following question, one/two
statements are given, followed by two conclusions |
and Il. You have to consider the statements to be
true, even if they seem to be at variance from
commonly known facts. You have to decide which
of the given conclusions, if any follow from the
given statement.

. Prafifed vy 4, o / @ $y= Ry T R, 39%
a1 ¢l frepy | iR 11 few E &1 iUt HyUAl # I
AT 8, WA § F Ia: 9a 9t @ g gdia g
g1 US98 a0 FAT 8 [ R sy A A s &
frrepd fear mar 51

statement The human organism grows and
develops through stimulation and action.

PYq AT offgd SN auT fbar gRT gear 8
feRa gt 31

conclusions: I. inert human organism cannot grow
and develop.

frepd . fAfSpg wa Sie gfs ok fawma =8t &=
NEI

Il. Human organisms do not react to stimulation
and action.

=4 St SE1U= a1 fpar v ufaferar 981 $d1

Neither conclusion | nor Il

&

b)

d)

b) Both conclusions | and II

follows 7 ISPy | el follow s | STk 11 @1
g3RAG I fAead g

Only conclusion | follows d) Only conclusion Il follows
Fad ey | Feaar FHad ey 1| a3

4 ust ¥ U g U1 IS 918 IR fadpew faw M@
31 IR fioeul # 9 Saa @ ¢ fawe Tar 7, &t fig
wﬁw%a&ﬁﬁmmm%wﬁmaﬁ
|

The following questions include one word and four
options after that. Only one of the four options is
that which can be made with the letters of the given
word, then select that option.

ENCROACHMENT
CHAIR b) REAR
TEACH d) REMIT
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SCHOLARS ACADEMY

17.

a)

18.

a)
c)

19.

a)

20.

a)

c)

21.

A'SR'B YRR, C3R'DTEE I'ABIA'D' &I
YE g, A ase fF B F1'C AFIAETY§ 2

'A' and 'B' are brothers, 'C' and 'D' are sisters. If the
son of 'A' is the brother of 'D’, then what is the
relation between ‘B’ to 'C'?

‘J-I'I'Scbrother b) dMT uncle
fOdT father d) <Ial grandfather
U as! | fadia, A1 I avar g Afe= Ia-1 avar

T8 foraen QB 19we Rty 3 van @ afe aifte
A BRI P ISR TR 2

In five boys, Vineet is taller than Manik, but not as

long as Ravi . Jacob is taller than Dilip but smaller
than Manik. Who is tallest?

3fd Ravi b) HIfA® Manik

fafid Vineet d) [fga =gt fooan &1 gebar

Can not be fixed

3t 713 vy 3pfa o} e & srTar R S | Ehm |

what will be the next picture in the series of shapes.

=0 ’o= _X’ o’x x=0
’X X O = 4
1 2 3 4 5
+o= ot
X b) X
X
__x" O‘?
O 4 1=

Each question given below contains three groups of
items. You have to choose from the following five
numbered diagrams, the diagram that depicts the
correct relationship among the three groups of
items in each of the question.

Car, Train, Automobile

97 RE MU vl uy # awge & O wg g T
st fFafafad e T=m e el § ¥ T &t
AT BRI, 9% S o e uy d fi9 wgl &
¥ 9E) Sy gutar T gl

PR, ¢, dleHEEa

OO
b) O

©p ©

gal ' &7 o gy el ' @ §, 98 ey ur @
fraa e

a)

c)

22.

a)

c)

23.

a)

24.

a)

25.

a)

If there is relation of 'bird’ with ‘'wind' then in the
same way what is the relation of water with one of
the options given below?

U Drink
?;K*I'I'&:Washing

Rohans ranked seventh from the top and twenty six
from the bottom in a class. How many students are
there in the class ?

g1 3! RN Fand () FWWA 73TV 268,

b) el Fish
d) WSwimming

qarail wem | pa fraq faendf 2 2
31 b) 32
33 d) 34
Statement :-

All men are dogs.
All dogs are cats.
Conclusion :-

() All men are cats
(1) All cats are men

DY :-

¥t e, B 7

|t o, faeeht 81

ey :-

+t ae, faeett 21

|t faeedt, omeet & |

If only conclusion | b) If only conclusion Il
follows,/ Tfe Haa fswy follows./ af¢ Haq fpy
13RO Fdl B 2 TR HRAT G |

If either conclusion | or d) If neither conclusion | nor
conclusion 1l follows. / conclusion Il follows./ Tfe
e @ fed 1o T@ Ay 1 T2 @
23R BT g | SRV HRAT B |

In a certain code TEACHER is written as VGCEJGT.
How is CHILDREN written in that code.

Y97 #, TEACHER &1 VGCEJGT
mﬁﬁ'@%% ' CHILDREN ®Y 3T WibRa® WioT & »

EJKNFTGP
EJKNGFTP

b) EJKNFGTP
d) EKINGFTP

fou &€ ol w1 wd g vfafaw wt gfe

Select the correct mirror image of given shape
X

BUTTER| !

ey

—

A3TTUAE

b)
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c)

26.

a)
c)

27.

a)
c)

28.

a)
c)

29.

c)

30.

SITTUB

d)

Fufafea sma &1 sivggq iR ok R i@ M
a4l ¥ IR o

Study the following diagram and answer the
questions below

e
Fafafed # & o1 Terifos 09 § &t 7 @ rwEue
TARAH TS &2
Which of the following are politicians who are
neither teachers nor graduates?
EF b) DF
cD d) LH

2 TP v B T awTe =i € g1 R N' P
faufia Ba® W BT SHER T ?

Below, three stages of a cube are shown. Which
letter will appear on the opposite side of the letter

-~
r & P . N
N RN\ ‘h
P b) Q
S d) R
IR e TR F 3 Rl w7 8, &« den 3
AR 8, @ S B G=I Erh 2

Below are two conditions of a dice shown, when the
number 3 is below, what number will be above?

o
6 b) 3
4 d) 2

In the following question, select the odd number
from the given alternatives.

frafafad uy & o v fAweal A @ fquy = &)

g
11-17 b) 23-31
43-49 d) 41-47

Which answer figure will complete the pattern the
question figure? .

fFafafed & § o9 W oo uy snpfa |
Ui B qRT B2

a)

c)

31.

c)

32.

a)

c)

33.

c)

34.

c)

35.

SRaTaN
A
7

b)

N
O

d)

Mathematics

AGS! Bl TP TG DI ATSAHIA & WA | gardr 11
21 59T g1 R

A wooden spoon is dipped in a cup of ice cream. Its
other end will ____

q1a Ulsha1 & GRIGSI 8 b) Hag Ulhdl & gRT $81
ST become cold by the 8l ST become cold by
process of conduction the process of convection

fafosvur ufthan & GRT 381 d) &1 T8l 8N not become
8l ST become cold by cold
the process of radiation

SR W R YR U1 § B T 3R UTaT STl 82

Which acid is the most abundant acid found in

grapes ?

eI 3 Oxalic acid b) TEpIS® TRIS Ascorbic
acid

TEND 3T Tartaric acid  d) WITHP 3T Formic acid

S ST BT AU G YT T TR B YT 2

Who was the Viceroy's when Bengal was

partitioned?

TS &t Lord Curzon b) TS ST Lord Reading

1S M Lord irwin d) 98  saget  Lord
Dalhousie

¥ fadue wl uega fParwmar 8 2

Where is the money bill presented?

THIHT Lok Sabha b) ST 4T Rajya Sabha

NHIHT T ISTTHT SHF d) 99 ¥ P13 T8l None of
Both Lok Sabha and Rajya these
Sabha

YR $T UgdT 39S, AR 3R HIR Wd by Id
o R g a7
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a)
c)

36.

a)
c)

37.

a)
c)

38.

40.

a)

c)

41.

a)

c)

42.

a)
c)

India's first School of Logistics, Waterways and
Communications has started in which state?

AR Tripura b) YA ST West Bengal
3T Assam d) f98R Bihar

YR ST B IT USRI 31 TYfS B U= ARTRSI B
G & TR §RT ATIGT 82

,Which neighbouring country of India measures
prosperity by gauging its citizens' happiness level?

U< Pakistan b) 9T Nepal

ficiepT Sri Lanka d) Hc Bhutan

59 JUR & SR | STeT $1 TR TH G0 | gl
fermait & dva gran 82

In which communication mode, data can be
transmitted in both directions at same time?

RI@aT Simplex b) TUf STWIH Full duplex
G{‘Ef@'{q:@aﬂ Half duplex  d) A e Multiplex

ISR BT a8 THITH Y SRATTCt HTHT BT A=Ay
# FUdG PRaTy, _ weard 3|

A computer program that converts assembly
language into machine language is called _____

PSR Compiler b) EeIUCR Interpreter
TR Assembler d) P Compter
STATH fAYUTY BT ATYR YT B AT 82

Which is a base metal of amalgam alloy?
TGAFATY Aluminum b) URT Mercury

GICH Copper d) ST Zinc
fFafafEa & @ o149 @ dwse It wRaaT

Which of the following is the structure of graphite?

zg RAsmard Rigid three- b) IS|E\ﬁ'UJIDI'€[Hexagonal

dimensional
eald ol like Footbal  d) ®IS faded TET -1dt & No
option is correct

B 8§ YR Sfaivel uuT™ WIed (¥R A
T fiRE 9 omt seq ¥ fow fead Wy
AR P2

With whom did the Indian Space Research
Organization (ISRO) partner recently to take
forward the Gaganyaan mission?

URA  4d 97 Indian b) ”RFﬁHaTg@WIndian Air

Army Force

YRAT YT Indian Navy  d) Sudad @Al of the

above

JrEftamsong g arew IR & THE ok Wdai
F ¥u ¥ ford frgaa farar man 82

Who has been appointed as the MD & CEO of ICICI
Pru Life Insurance?

4T SHerd Raveena Dixit b) Sfae 2t Jatin Sharma
3fq Aurdt Ravi Tripathi d) &anﬁl?ﬁ Anoop Bagchi

43.

c)

44.

a)

c)

45.

a)
<)

46.

47.

a)

c)

48.

a)

c)

49.

a)
c)

YYIAT & ag?l?n'a Risia & Fafafea & Pa waa
feram wimar 32

Which of the following is emphasized in the
pluralistic theory of sovereignty?

TY Association b) ST Monarch

XY state d) PR Government

frafafaa & @ feg 3o A e Ieiem vl &1
Sogd g A

In which of the following countries the system of
judicial review was originated?

Th1d France b) ST Germany

JUHT USA d) Britain fed

which kind of majority is required for constitutional
amendment in forming a new state?

TP 91 g 99 # JautHe "y & e Sar

TEHA AfeT
Simple TTROT b) Two-third GI-[dgTs
Three-fourth Fﬁ:f-iﬁiﬂ'ﬁt d) Two-third plus ratification

by half of all states G-
fee wd ol I @
ST

Which officer of the Government of India has the
right to take part in the proceedings of parliament
of India even though he is not a member?

YRd WHR HH-IT AfUeR I 7 gid gu i
%mﬂ‘qmaﬂﬁrzﬁaﬁﬁmaﬁmmm

Vice- PreS|dent3'qT|'§'CIﬁ b) Attorney General of India
HRd T ST S Rd

Comptroller and Auditor d) Election

General fHF® Wd  gAE A
Aol 1&g

The term 'Stupa’ is associated with which of the
following event of Gautam Buddha's life?

Commission

U T T g ¥ e & Pafarad ¥ @ fe
e § Hefid 32

Death T b) First Sermon UYH JUCKT
Birth SIH d) Renunciation e-NT
Who was the last ruler of the Gupta Dynasty?

T G371 BT SifoH S B U

Puru Gupta Q¥ b) Vishnu Gupta ﬁml’lﬂ
Skanda Gupta ¥h&l[Wd  d) Kumar Gupta PHAR

Where was Guru Govind Singh educated and learnt
Persian?

mﬁgzﬁi?aﬁﬁr&nwgésﬁvwﬁmw

Lahore d G N

Patna UcHl

b) Amritsar AHIIR
d) Anandpur Sahib 3HEQR
aifes
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50.

c)

51.

a)

c)

52.

a)

c)

53.

a)

c)

54.

a)

c)

55.

c)

56.

a)

c)

57.

yfaad gag FHA & HEd B IR FI9 & forg
fay gere s ®a AT wia 87

When is the World Pulses Day observed every year
to highlight the importance of pulse crops?

10 BRa]T / February b) 11 TRaR1/ February
12 BRast / February d 13 TRaRY/ February

¥ TR SRa & wHg A Riy &1 faey fafew =g
# forar mam?

During the time of which Governor General Sindh
was merged into the British state?

s 8(_'16: S Lord b) s IBIS Lord
Dalhousie Chelmsford
drs TATeR Lord d) drs 3f%™ Lord Hastings

Ellenborough

Browing of paper in old books is caused by-

R fparal & uAt $1 17 W3 AT | 39T g
PR3-

Frequent use / TR b) Lack of aeration / dIg &l
SUGRT BT RO F BT

Collection of dust/ﬂﬁ% d) oxidation of cellulose /
THAH TG DT STFHIHRT

Match stick uses the allotrope of Phosphorous -

AT ot et F R R em gtar g -
Phosphorous Penta oxide b) White
/ BIRBRY U SHlegs

R%d Phosphorous / el d) Plirple

Phosphorous /

Phosphorous /

X

The colour of the ocean appears to be blue because
the sunlight falling on it is

for<lt T @1 @1 e wdid 31T € i 39 R s
el gd 3t famwoi -

Reflected / TRMEfdd & b) Refracted / Juafdd g
St & STl §

Diffracted / faafda Epf d) Scattered / I CAIG a
SIGIE STl §

The unit of noise pollution (Level) is-
<afy Uguor $t 3B FTR ?
Decibel / SHEd b) Decimal / ERIL]

Ppm/tﬁ.tﬁ.@ d) None of the above /
IWITd | I BIS T8l

71d €1 A uefa sngdew ® f5d URa & SnTa Teigd
& U A fgaa frar man 82

Who has been appointed as the next Ambassador of
India to Marshall Islands recently?

Ffe 0 Nalin Negi b) U  3MTSATUN Pankaj
Advani

&t SIS Sibi George d) 39  HTYY Abhinav
Kashyap

B9 g1 # YRd &7 YT a4 98T AUINS HRER
PR ?

a)

c)

58.

a)

c)

59.

a)

c)

60.

a)

c)

61.

a)
c)

62.

c)

63.

a)

c)

64.

Who has recently become the fourth largest trading
partner of India?

England 7108 b) Russia T
Indonesia S8R d) Australia 3fTRefer

IAd I §913 I YEEE YUelt "Wh1s g ey
BT TR fhad gRT forar
Who unveiled the advanced drone air traffic
management system "Sky UTM"?

9% HIct Narendra Modi  b)  3If¥d RI8 Amit Shah
A1 R Rajnath Singh  d) FAfda TSH Nitin
Gadkari

YRA # fPa-il A (Maidams) P @IS B TS 82

How many Maidams have been discovered in India?

108 b) 90
97 d) 85
frafafad § @ 19 @t v ¢dt 3k o arg 22

Which of the following is a cold and dry air?

gd Hurricane b) cl-sl Tornado
§RT Bora d) FISEIH Cyclone

[ General Awareness 1

frafafEa & @ #1-d9t 7§ ¢ @ uf¥m 91 ik T8
TEdt &2

Which among the following rivers does not flow
from East to West?

el Narmada b) Tt Tapti
HIALT kaveri d) HEI Mahi

T AT A TR F Ugd UAgs 99 BT
IguTed faT 139 gsdt &1 91 w1 82

Prime Minister Sheikh Hasina inaugurated the first
submarine base of Bangladesh. What is the name of
this submarine?

CLER L AN RS G A b) SUATH TG T BNS
3fgHG BNSA.F.Salauddin Sheikh Hasina
Ahmed

TR AR BNS d) STT HHA 9T BNS

Munir Chowdhary Kamal Hussain

M WEH T ATE 30saT FHR NU= B
2023 R fme S
Who won the National Sports Club of India Snooker
Open Crown 2023 award?

IRa DISRT Sourav b) 3N BT Aditya Mehta

Kothari
CIEHTT X1dd Laxman d) fav=s THf Virendra
Rawat Sharma

P AT 79 WA B AR foa uia s aren
U1 3T & 1 82
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SCHOLARS ACADEMY

a)
c)

65.

c)

66.

a)

c)

67.

a)

68.

a)
c)

69.

a)

c)

70.

Which state has become the first state to pass the
Right to Health Bill?

S8R Bihar b) ISR Rajasthan
HeRIY Maharashtra d) IR UG Uttar Pradesh
In which year Assam Accord was signed between

the government of India and the leaders of Assam

Movement?

3IH 9HENd R YRd PR R A 3figiad &
Adrait & fta frd avf gwaer fpg e A2

1989 b) 1890

1972 d) 1985

Which of the following is true ?
FudsRasyTaag?

DNA is the genetic b) RNA is the
material in most of the

organism / EﬁQT-UI Udh

genetic
material in most viruses
and bacteria / SR.UATU.

IRE Terf B S U IMaifkie uerf g, W
geId: ot & g Sl ﬁwah 3R Sharoeft o
gl ORI I &

DNA is the genetic d) RNA is the genetic
material in all the viruses material in all the viruses
/ ST T ARG/ ARTAT Th RIS
verd B, ot ot fawrogai & werd B, < ot fawmogant
ORI ST § ORI I &

Which of them following is known as grave yard
RBCs?

frufafaa 9 9 fea ara v st o sfas
HEI I ?

Liver / ddd b) Bone marrow/ Y Al
Spleen / wigl d) Appendix / wofeam
Which part of human body is first highly affected by

nuclear radiation ?
U9 IR ST S9-91 [ Ay fafeon 3
i gufaa gare 2
Eyes / 3T
Skin / ddl

g yrda fRaarst «1 uge IR SHa3t 2023 & o
ST @R 316 g WY AT 4T 82
Which Indian player has been named the ICC Player
of the Month for January 2023 for the first time?
JHAA I Shubman Gill b)) AigHE

RIS Mohammad Siraj

b) Lungs/ Bhe
d) Bone marrow / YT

THAR d) BT g Lokesh Rahul
Ylad Suryakumar Yadav
Frafafea & @ few feast 1 9 @ gafem 18 32

Which of the following sportsperson is not correctly
matched with their respective discipline?

Sfid @ YT Jitw Rai - b) Wi Ry ;. Ssfied pv
Shooting Sindhu : Badminton

et wfoe ;. SifeT d) dur dREER o Soikes
Sakshi Malik : Boxing Deepa Karmakar

71.
a)

c)

72.

a)

c)

73.
a)

c)

74.
a)
<)

75.
a)

76.

a)

c)

77.

c)

78.

Gymnastics

(931 +138)% ~ (931 — 138)*
(931 x 931 + 138 x 138)
793 b) 1069

793/1069 d) ST I PI a!

9 B Y@ -4 gl 4 5,6,7,8 F WRT &
R UA® M T 3 AT 99 TRy 9 F UFT 34 W LA
AT ?

What will be the smaller number which is divided by
5,6,7,8, with 3 left in each case but zero remaining
when divided by 9?

1677 b) 1683
2523 d) 3363
0.06 x2.5%x24=7?
46 b) 3.8
34 d) STH Y P Tl
(4b2 1 ) =2 (8b3 + i)
'q'ﬁ\if b? Eﬁ ?ﬁ/then b /) =2
0 b) 1
2 d) 5
256 x 256 — 144 x 144 5
112 -
420 b) 400
360 d) 320

TP WM A ¥ M B 9% T HleArsierd 3t dad
Tfa 65 bt /HeT T8 9UT B A A 9% 3 H sHPT
3 nifa 60 foreft. /eer B ot g & dewsiea
Pt ia i fraeit i 2

The average speed of a motorcycle from place A to
location B is 65 km. / Hr and its average speed in
coming from B to A is 60 km. / Hr. What was the
average speed of the motorcycle in the entire
journey?

62.5 fadl. /dcl/km. / Hr
62.4 fadl. /del/km. / Hr

et Wien & e e & e -4iurE B3 e 6
2 agIEIIg?

One-third of a number has one-fourth of two-thirds
is 6. What is that number?

b) 7.2 fHt. /gel/km / Hr
d) 60.8 fH. /der/km. / Hr

108 b) 144
% d) 78
HYar aur Har S adHE ST BT SFUTd HHT: 8:9 §

TYT AP 3T HT AT 68 99 ¢ 10 Y 91g AP ATY
BT IUTd FIT G 2

The ratio of the present ages of Sita and Geeta is 8:9
respectively and the sum of their ages is 68 years,
what will be the ratio of their ages after 10 years?
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SCHOLARS ACADEMY

a)

79.

a)
c)

80.

a)
c)

81.

a)
c)

82.

a)

83.

a)
c)

84.

a)
c)

3:24 b) 15:16

7:8 d) 21:23

IR a =32 @, vlt+ta+ — 051 91
T ERM?

Ifa = +3/2, what will be the value
of V1+a++1—a,

V3 b) 3/2

(2 +V3) d) (2-V3)

Y & YT | 25% PHHI g1 U TP 8D BI 3. 240 &

2 foron. 3iftrer Qe e @ et geu ufa fn. fea @

There is a 25% reduction in the price of apple to a
customer of Rs. 2 kg in Rs 240 More apples get less
price per kg. How much is it?

¥/Rs. 30 b) ¥./Rs 35
¥ ./Rs 40 d) ¥/Rs45
e aeg 3! [t Ruifa g w I S g sa gw

%2/3Wéﬂﬁﬁ10%sﬁ@?ﬁ%aﬂf‘wﬁu¥hﬂ
T R d9 9§ 39 fa=m ufasra ey ghm 2

An item sold at a specified price causes a 10% loss
by selling that price at 2/3. What percentage of
profit will it make by selling at the initial fixed
price?

20% b) 33%
35% d) 40%
3 T 3:4 & U H € TP wel ¥ 6 91 gfx

B U UG SJUTT 4:5 B ST & 37 G BT 3y
fpa g2

Two numbers are in the ratio of 3:4. When each
number is increased by 6, this ratio becomes 4:5.
What is the difference between these numbers?

1 b) 3
6 d) 8
Y F T AR T A F Goit BT 1/6 UTT, 1/6 THT

¥ forw ; B Ha Yolt &7 1/3 YT 1/3 THY & forg aur
C, T Yot HT AW YN R 90T & e o= swar @
F. 46000 F FA AU A A B BT YT fHar g 2

A' s 1/6 portion of total capital, 1/6 for time in a
common trade; B invests 1/3 portion of total capital
for 1/3 time and C invests the remaining part of
total capital for full time Rs. What is B's share out of
the total profit of 46000?

%./Rs 6500
%./Rs 9600

15 T 9 f& & 2700 &1, TS @I § 18 A 30
f& ¥ fpaa fraum sFme e 2

15 cows 9 days 2700 kg. Eats grains: How many
kilograms of grain will the 18 cows eat in 30 days?
12350 fuT./kg b) 10800 fUT/kg

9750 fabUT./kg d) 10250 fbUT/kg

b) %./Rs 8000
d) %./Rs 10000

85.

a)

c)

86.

a)
<)

87.

a)

c)

88.

a)

c)

89.

a)

A 3ipar fdt SrE BT 18 g & auT B 3rdar 39 15
a1 o o1 % Par B b 7 39 W 10 feA wrf
TP Bl o Ay o1l B A fpan ok & & @1
M ?

A alone can do a piece of work in 18 days and B
alone can do it in 15 days. B alone left 10 days
working on it, in how many more days will A
complete the remaining work?

5 f&/days b) 4fa&/days
6 f&/days d) 8fa&/days

@9 T A, B TUT C TP ¢HI P HHI: 12 6¢, 15 6
qUT 20 ¥ F WA § Tl A g a1 I8 YT B 3R €
P TP -TP U¢ IRI - T Gt o, ot ED1 B WA
¥ fora= wea @R 2

Three taps A, B and C fill a tank in 12 hours, 15
hours and 20 hours respectively. If A is always open
and B and C are to be opened one hour in turn, then
how much time will be required to fill the tank Will
it take?
7 °¢/Hr b) 6 °c/Hr
8 °e/Hr d) 5%c/Hr

TP B, oY 3R ¢aex @I fd &1 HHRT:
3:5:2 %Gﬁuaﬁwﬁrémﬁﬂﬁrﬁzso % g @il 12 6e
# 360 fft. @ Tu wvar § SR AUt Shy B e
ftaa Tfa fpat g 2

The ratio of speed of a car, jeep and tractor is 3:5:2
respectively. Jeep speed is 250% of tractor speed
which is 360 km in 12 hours. What does the distance
cover the average speed of the car and jeep
together?

60 fooHfl. / ©0eT/ km/hr
40 Tt / U1/ km/hr

b) 75 bt / gUCT/ km/hr
d) Feifa Tt fooar o war

Cannot be determined

TP YS! Th 9HM O1d d gad? 122 Hiex a=
WeHhTH ®I 17 APHvs F aur 210 Hex & qd &) 25
AHUS H YR HdT & IS $ 91l fpa-ii g 2

A train following a uniform speed crosses a 122
meter long platform in 17 seconds and a 210 meter
long bridge in 25 seconds. How much is the speed
of the train?

46.5 &Y. / 91/ km/hr
37.6 fpHY. / 9UET/ km/hr

T T guareg fezm & gad gu 30 fadt. # gft 2
a%ﬁaumﬁ%w%aﬁvaﬁwﬁmaﬁaﬁ
TT B H 6 U< @ 9 g Ife vare & fd ,
31 fa A ameht g1, Y I AiepT1 Y i fpa @ 2

A boat 30 km while going downstream. It covers the
distance in 2 hours, while on the return it takes 6
hours for the boat to cover the same distance. If the
speed of the flow is half the speed of the boat, then
what is the speed of that boat?

10 f&HT. /9eT / km/hr - b) 3 ToHY. / 90€T / km/hr

b) 37.5 L. / °9Uel/ km/hr
d) 39.6 f&H. / 9U€T/ km/hr
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c)

90.

a)

91.

a)
c)

92.

a)
c)

93.

c)

94.

c)

95.

a)
c)

4 fope. / 99eT / km/hr d) 5 feHL. /9uer / km/hr

a1 ¥ 180 fum Y Img 3t ¥ 200 Ufa fur o I@ &
HY5:3F ¥ firemex T fyor &1 ¥ 210 ufa
a1 & UTa | St § IPT ATy yfaRrd fbean ghm 2
Nita sells the mixture made by mixing Rs 180 kg of
tea with Rs 200 per kg of tea at a ratio of 5: 3 at a
price of Rs 210 per kg, what will be her profit
percentage?

10%
12%

T 2500 BT 6 94 P 3fd # Iufad ST T 1650 & T
W R g s 3af & foe ¥ 6875 HT1 fara-m wemor
TSl §RI 2

Interest accrued at the end of 6 years of Rs. 2500 is
Rs. 1650. Facts at the same rate. What will be the
simple interest of Rs. 6875 for the same period?

b) 11%
d) 13%

¥ 4836.50 b) ¥ 5035.25
$4995.25 d) ¥ 4537.50
5t o9 R 5 % aIfe ® A 2 9 & Twals ™

YT HIYRT TSl BT SR ¥ 35 § 98 ¥ fpa1 8 2
The difference between 2 years compound interest
and simple interest on a money at 5% per annum is
Rs 35.

% / Rs 10000 b) ¥ /Rs 13000

%/ Rs 14000 d) %/ Rs 15000

it SmaaPR W B Faa arars d 50 % gis HA

TR 3P &pd | fhaa ufara gfe gift 2

If only the length of a rectangular field is increased

by 50%, what will be the percentage increase in its

area?

50% b) 25%

20% d) 370 ¥ B3 T8 None of
these

UTg & & A9 ST U1 Bt DI HHT: 30 THT. 40 FH.

qYT 50 Y. T 8 fUraem X SR Y 99 BT wYU
gg fean ghm 2

The side of three solid cubes made of metal have
respectively. 30 cm 40 cm And 50 cm What will be
the total surface area of the cube made by melting
them?

2 T Hieym? b) 2.15 @ Hiew/m?
2.16 T Hie/m2 d) 2.2 Hiey/m?

Rt R A A 225 iR gl arar g S R A B,
25 Hiex gff 77 HRa1  Uh frarfier Ft s A B, A
! foram e 9 g 2

The longer B decides the distance by 22.5 meters,
the longer B travels 25 meters, how many meters
will B beat A in the race of one kilometer?

25 T/ meter b) 50 e /meter
111 HieX/meter d) 100 Hex/meter

96.

a)

c)

97.

a)

c)

98.

a)
<)

99.

a)
c)

100.

a)
c)

TS w8 HT fora=n RareT® Rt 154 92 gRm 2
How much fractional part of a week will be 154
hours?

11/12
7/12

b) 11/13
d) 9/13

The maximum value of 24 sin® + 7 cosf is
24 sin® + 7 cosO Wmﬂﬂ%

7 b) 17
24 d) 25

In the given figure POS is a line, find x :

& it anpfa A Pos TH I B, x FT HM TA

Q
R
P 601 4x
0 40°
S
20° b) 80°
10° d) 100°

The bar graph given below represents the revenue
of a firm for 8 years. All the revenue figures have
been shown in terms of Rs. crores.

12 fear T IR 9w 8 9ul & forw e wH & IS
1 ufafafiea ®war 81 9 IoRaT s $s Iug
T & ded A REmw e §

E"’ 380} 350 300 340

300 2
2 E 3091 [N 2e0 250 | | 240

Revenu
T
a
=]

2009 2011 2013 2015
Year

In which year the firm has shown maximum
percentage increase in its revenue with respect to
the previous year?

fUod af & ddy § 5w af § »d 7 s Iova A

siftream o gf s @2
2011 b) 2014
2016 d) All are equal it gaE

A batsman in his 19th innings makes a score of 98
run and thereby increases his average by 3. What is
his average after 19 innings?

3T 19 &Y Uit # U dociaTST 98 I BT THIR FATET
2 3 39 a¥E ST 3Nd 3. ¢ Wa1 g1 19 UTal &
q1¢ IHBT 3NHd =1 &2

54 b) 44

45 d) 43
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